Lines: Lesson 4 AVlﬁk)e/(‘ K (
Slope Intercept and Point-Slope Form: Worksh&bt 1

%
Nare: MATH x_+ALL
Slope Intercept Form: __ U = \I%+ b
Point-Slope Form: %" %| =M (')(’ X, )
Graph:
-4
y=—x+3 y=3x-2
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What is the point-slope form of the line...

Through (7, -2), slope -3: \A“‘Z’ _5(:)(_ "l\
\ V4

0
Through (0, 5), slope 1: u-5=«
2 O 2
Through (-6, 0), slope 3 w==(%+ bj
O (>4

What is a point and slope of the line with equations:

7 T
)’ZE(X"'é) Point:M Slope: /2.

y+4=—9(x—2) Point: (2;"""‘) Slope: __— q
y—5=x+7 Point: ("‘7; 5) Slope: \
What is the slope intercept form of a line with...
Slope: -6 through (-1, 3): AN
P ° u-2:= -l(x+1)
U-3=-x-b
G2 +3
U=-¥x-3%
0

AN\

2 2
Slope: 3 through (3, -6): Uu+G= 3(1)(-3)

yrloz £X-2
0]

=6 ~G
ws= %X‘ 6
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